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Summer Fruits Fractions

Colour the correct fractions of the fruits.

For each group of summer fruits, colour in 3.
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Summer Fruits Fractions Answers

For each group of summer fruits, colour in 3.
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Other combinations may be coloured, provided it is the correct amount of fruit.

f For each group of summer fruits, colour in £. \
A8 V0000
s (1SS EOOO0
‘ |

v ' LA e
= s IS

S L IGIGIS
R | ecCO
(- . - - .-J

Other combinations may be coloured, provided it is the correct amount of fruit.



Summer Holiday Code Breaker

Solve the calculations and wuse the code breaker to spell out
the summer-themed words.
a | b | c|d|e| f| g | h i i k Il | m
6 15 | 21 13 | 24 | 18 7 12 1 25 | 19 9
n o [ q r s t u v | w | X y z
22 |16 | 11 | 26| 2 |17 |20| 3 | 10| 8 | 14| 23| 4
Answer Letter Answer Letter Answer Letter Answer Letter
3=x5h 20 - 13 25 -8 4+ 8
30 = 10 12 =2 4 x 2 11 + 10
30-9 9+ 11 60 + 5 20-17
5x5 27 =3 10+ 9
5+8 Answer | Letter 5+ 12 8+8
10 = 2 20-3 1+2 20-1
2+1 20 -8 8+ 11
Answer Letter 11 = 2 15 +5 40 - 17
30 - 10 15+ 6
2=8 20 - 18
5+ 3 7+6
20 -7 4+ 2
15+ 4 20-11




Summer Holiday Code

Breaker Answers

Answer Answer
25-8 17 4+ 8 12
b= 2 B 11 + 10 21
60 + 5 12 20 -7 13
27+ 3 9 10 + § 19
5+ 12 17 B+8 16
1+2 3 20-1 19
20 -8 12 8+ 11 19
15+ 5 20 50 - 17 23

a | b c d | e f g h i k L
15 | 21 | 6 | 13 | 24 |18 ( 7 | 12 25 | 1%
n | o p q r 5 t u v X y
22 [ 16 ) 11 | 26 | 2 17 | 20| 3 10 14 | 23
Answer Letter Answrer Letter
3=k 15 20 - 13 7
30 + 10 3 12+ 2 b
30-9 21 o+11
Ex5 25
5+8 13 Answer | Letter
10 = 2 20 20 -3 17
2+1 3
Answer Letter 11 = 2 22
30 - 10 20 15+ 6 21
2=§ 16 20 - 18 2
5+ 73 B T+6 13
20 - 7 13 4+ 2
15 + & 19 20-11




